A & R @ =

£ A H 280 £ 12 H 22 B HHI9E3S

A # & PR FCALET %1520 20138 =

I 5 & 5 $-56

I %= 4 FrEERFERHETE

I = & P #CALET +78 A

FE i & (Brid) 6,972,480 FH  AnEmmiE®s @K 6,456,000 M

B & HI R ffi 4% (B 3A) 6,188,400 H  As=resdfmss (Bik) 5, 730,000 M

FEEHE(HBA) 6,544,800 M #HF&a £ (Hiik) 6,060,000 M
*EA A W & ®HE &

Xt B0 6, 060, 000|3& 4Lk E

BR& REHER 6, 250, 000

BR&t REM 6, 300, 000

RERE #Aai 6, 300, 000

HAet BAME 6, 400, 000

EFREAALEEICI00 D8IZHHE T HEEEME L - CILAT R EHRA L
DHAHZRDHMEETH D,




